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2.3.2 Aufgaben zur Beschreibung einer Welle LOSUNGEN

Aufgabe 2
a) y=0.2m
f=1/T=1/25s=0,5Hz

A=125cm=1,25m
c=A-f=125cm-0,5Hz=0,625m/s

X

b) y(x,t) =y-sin [21‘[ (% - X)]

y(0,5;1) = 0,2m - sin [2n (_ _ E)]

=0,2m - si
~m Sm( 250)
=0,2m-sin(

y(05;1)=012m=11,76 cm

y(0,5;1,5) = 0,2m - sin [211 (— - ﬁ)]

175-11)
250

v(0,5;1,5)=0,16 m = 16,18 cm

¢) Nein

= 0,2m - sin (

Aufgabe 3
geg.. f =2 kHZ; }\Wasserstoff = 0,64 m, }\Luft = 0,17 m, }\Mauerwerk = 1,80 m

ges.: Cwasserstoff = 0,64 m, Crufe = 0,17 m, CMauerwerk = 1,80 m
c=A-f
Wasserstoff:

CWasserstoff = 0,64m 'ZOOOHZ

m
Cwasserstoff = 1280 ?

CrLufe = 0,77m -2000Hz

CLue = 340 =
.

CMauerwerk = 1,80m :2000Hz

m
CMaverwerk = 3600 ?
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Aufgabe 4
geg.: f1 =20 Hz, f, = 16 kHz, c = 330 m/s

ges.: 7\1 , 7\2
Lsg.:

3302
— S
20Hz

)\1=

= -0

)\1 = 6,5m

3302
S

A2 = T6000Hz

A2=0,206m
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